NERVES ALWAYS MIN 13 CM
EDGES ALWAYS MIN 6 CM

LAMP TYPE SMALL, TYPICAL NERVES ALWAYS MIN 13 CM
EDGES ALWAYS MIN 6 CM
x s x x , x O'W VD eS O'W VD e S
Bowls’ Nomenclature: Bowls” Nomenclature:
A bowl type is defined by a capital letter and a number e.g. Al, B3, Cb. The capital letter A bowl type is deﬁmeq by @ CO_DM‘ ‘\etter and a number e.g. Al, B3, C6. The capital letter
o L L represents the resolution area in which the bowl appears: represents the resolution area in which the bowl appears:
1TYPE A.0T - ) ITYPE A0/ 1YPE B.OT A—Bowls only appear in resolution area “Type A” A—Bowls only appear in resp\uﬂom area ”Typf A ) )
TOTAL: 12,36m? ) / TOTAL: 13,92m® TOTAL: 12,36m? AB—Bowls appear in resolution area "Type A" and "Type B’ AB—Bowls appear in resolution area “Type A® and "lype B
B—Bowls only appear in resolution area "Type B’ B—Bowls only appear " feSO‘UUO” area ”Type B”
Bowl Types: Bowl Types: Bowl Types: C—Bowls only appear in resolution area "Type C’. C—Bowls only appear in resolution area Type C.
A1)+ 4x A1) - 4x AB1.a(i) ¢  4x . .
<_) (__) <__> A bowl type name followed by a lower—cased letter e.q. Bl.a, Bl.b,... indicates that the bowl A bowl type name followed by a lower—cased letter e.g. Bl.a, B1.b,... indicates that the bowl
A = 4 AT = 5x ABILD(Il) - 4x type is a variation on the same original bowl type. For example BZ.a and BZ.b are the same type is a variation on the same original bowl type. For example BZ.a and BZ2.b are the same
A2(i) © 4x A2(i) + 4x AB2.a(i) :  4x bowl type, but they differ in the locations of the light boxes). bowl type, but they differ in the locations of the light boxes).
A2(iT) © 4x A2(ity © 3x AB2.b(il) ©  4x One or two bracketed i's behind the bowl's name e.q. A1(i), A2(i)), B3(i), indicate that there One or two bracketed \"S‘behimd the ‘bovv\’s name e.qg. A1(i), A2(ii), B3(i), indicate that there
A3(D) © 4x A3(D) © 4x B3(i) :  4x are different rotation variants of originally the same bowl type. Unless two bowls differ in « are dﬁferemt roﬂtet\om VO”QWS _Of originally the same bowl type. Unless two bowls differ in a
A3 4x A3 4x B3() « 4 rotation of 180° — they will still belong to the same bowl type. rotation of 180" — they will still belong to the same bowl type.
AB1.a(i) :  4x AB1.a(i) :  5x
g ABLL(T) 4 8'3 ABLL(TY) © 4x 9 NAME NUMBER AREA PLAN NAME NUMBER AREA PLAN
- . : » : : o
AB2.a(i) = 4x AB2.a(i) :  4x
AB2.b(ii) :  4x AB2.b(ii) 4
A1(i) 48 0.10m?
C1 39 0.50m*
A1(i1) 54 0.10m?
C2 43 0.52m?
- — * A2(7) 48 0.08m’*
37 PANEL A.01 29 PANEL A.02 31 PANEL B.01
M1:20 M1:20 M1:20
A2(ii) 42
C3 36 0.59m?
A3(i) 48 0.15m?*
EDGES ALWAYS 15 CM C4 0.68m?
A3(ii) 48 0.15m?
5,10 1 1 4,71
A0 1
‘ AB1.a(i) * 153 0.13m? c5 0.85m?2
B 1YPE B.0Z B IYPE B.OS B IyPe C.07
; TOTAL: 13,92m? : > ) TOTAL: 13,39m? TOTAL: 12,36m?*
AB1.b(ii) 136 0.13m”
Bowl Types: Bowl Types: Bowl Types:
AB1.a(i) :  5x ABT.a(i) @ 4x C1 o Ix
AB1.b(il) :  4x AB1b(ii) : 4x C2 I
AB2.a(i) @ 3x AB2.a(i) :  4x C3: 1x 6 0.87m?
. . C4 . 1x
AB2.b(ii) :  4x AB2.b(ii) :  2x e AB2.a(1) 195 0.19m?
B3(i) :  4x B3(i) : 3x '
B3(il) :  4x B3(il) :  5x o
C7 . 1Ix
X 9 9 C8 : 1Ix
0} 0} o)
AB2.b(ii) 134 0.19m?
C7 1.24m?
B3(i) 87 0.41m? \/j
\ :
PANEL B.02 PANEL B.03 37 PANEL C.01
21 M1:20 30 M1:20 M1:20 ,
c8 1.39m
B3(ii) 89 0.41m?
5,10 1 1 5,10 1
| 1 5,10 1 |
|
- IYPe C.02 — B IyPe C.04
IYPE C.05
TOTAL: 13,92m? TOTAL: 13,48m?
TOTAL: 14,45m?
Bowl Types: Bowl Types:
Bowl Types:
C1 : 1Ix CT : 1x
‘ Ct . 1Ix
C2 . 1Ix C2 : 2x
C2 : 1Ix
C3 :  TIx C3: 1Ix
C3 : 1Ix
C4 . 1Ix Co : 1Ix
C4 . 1x
Co . 1Ix Co6 : TIx
Co : 1Ix
Co :  1TIx C/7 : 1Ix
Co : 1Ix
C/7 : 1Ix C8 : 1Ix
C7 : 1Ix
00 C8 . 1x
S}. 00 C8 : 1x
)
:5
\
55, PANEL_C.02 31)-CANEL C.03 L
M1:20 M1:20
57 PANEL_C.04
M1:20
5,10
5,10 1 1 5,10
| |
- IYPe C.05 B IYPe C.06 T IyPe C.O/
TOTAL: 12,48m? TOTAL: 15,11m? TOTAL: 12,48m?
Bowl Types: Bowl Types: Bowl Types:
Cl : 1x Cl : 1x Clt . 1x
C2 : 1Ix C2 : 1Ix C2 : 1Ix
C3 : 1x C4 . 2x C3 : 1Ix
Co : 2x Co :  1Ix Co : 1Ix
Cb : 1Ix Co : 1Ix C6 :  2x
C7 : 1x C/ : 1Ix C7 : 1Ix
C8 : 1Ix
00 0@ 00
N N N
M) N M)

PANEL _C.06 5, PANEL_C.07

PANEL C.05 2020 M1:20
30—
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